
Subject: Re: data mismatches
Posted by Trevor-DHS on Thu, 20 Nov 2014 05:57:37 GMT
View Forum Message <> Reply to Message

d105g is used when a general question about physical violence is asked, but the indicator for
physical violence is not based on just this question, but on the responses to a number of
questions. Below is example code to match the physical violence indicator:
gen PVever = (inrange(d105a, 1, 4) | inrange(d105b, 1, 4) | inrange(d105c, 1, 4) | ///
  inrange(d105d, 1, 4) | inrange(d105e, 1, 4) | inrange(d105f, 1, 4) | ///
  inrange(d105g, 1, 4) | inrange(d105j, 1, 4) | inrange(d130a, 1, 4) | d115y == 0 | d118y == 0)
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